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200mm/min
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£1 R # R B
B A EF | | ®EGNE aakF | | B/
SE tThR| kTH =T o |RE TR KTH =T I
1 16/2 | 16/2 E 58 20 16 |16/2 | 16/2 | 2/2%% 58 20
2 16/2 | 16/2 | F 58 24 17 [16/2 | 1672 | 2/2%ix 58 24
3 16/2|16/2 | % 58 30 18 1672 | 16/72 ] 2/28% 58 30
4 16/2 11672 ¥ 58 34 19 1672 | 1672 | 2/28X% 58 35
5 16/2 | 1672 | 58 36 20 |16/2 | 1672 | 2/28% 58 40
6 16/2116/2 | % 50 20 21 |16/2 | 16/72 | 2/2%iX 50 20
7 16/2 | 16/2 | ¥ 50 24 22 | 1672 | 1672 | 2/28x% 50 2
8 16/2 | 16/2 | 50 30 23 | 1672 {16/2 | 2728 50 30
9 16/2 [ 16/2 | ¥ 50 35 24 1672 {1672 | 2/28ix 50 35
10 |16/72|16/2 | S 50 40 25 |16/2 | 16/2 | 2/2®xX 50 40
11 16/2 {2/2| ¥ 50 20 26 | 1672 |20/2 | 2/2%8x% 50 20
12 |16/2 | 20/2 | * 50 24 21 | 16/2 | 20/2 | 2/2%ix 50 24
13 | 16/2 | 2/2| % 50 30 28 | 16/2 | 20/2 | 2/28x 50 30
14 |16/21{2/2]| ¥ 50 35 29 |16/2 [ 20/2 | 2/28% 50 35
15 1672 120/2| % 50 40 30 1672 | 2072 | 2/2%X 50 40
3.
3.1
2
1,000 1.00 ( ) , 100 /in
1.00 ( )
= X
= X
= ( )+ ( )
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3.2

2 P,E, T, £ 2/ ( 2 , , ,
€))
X1(x1-x )h= (x-1.225) x 1,000  Y1(yi-y )g= (y-683.8) x 10
( , X: y: h,g )
{2) X, Y, X2, Y2, XY
2 2
X y X Y X Y XY ;sz+§§-%

0. 975 556. 3 — 250 — 1275 62500 1625625 318750 n

1.210 672.8 - 15 — 110 225 12100 1650 | x=1.18

1.225  683.8 0 0 0 0 0| y=vo+¥.L

1.310 737.5 85 537 7225 288369 45645 | noE

~ 180 — 848 69950 1926094 366045 | ¥~ 0626
{3 S(xx), S(yy), S(xy)
a n_, 1 { (—180)2 } 1
— 2. 2.)2 2 = — =
S (xx) {i‘:‘:lx i ﬁf( i) /n} ) 69950 1 X Tgo5z = 0.06185
n n 1 (—848)2 1
= 2. — 2.)2 —_— = — =
S (yy) {L{lYl (2 Y2 /n}gz { 192609 821 x5 = 1746318
Y (- s _l_zz{ _ (—180) x (—848)
S (xy) —{iz;llex (élx‘i:[‘)/“} s = { 366015 :
S S
X 1555 %75 = 327885
O]
() SR{S (xy) %S (xx)=(32.7885)%/0.06185=17382.145
() Syx=S(yy)-SR=17463.18-17382.145=81.035
®)

L2 A S o} A Fo F (1, 2; 0.05)|F (1, 2; 0.01)
ElRIc X AZE) |SR=17382.145| 1 | 17382.145 428.998 **¥ 18.51 98.50
BlF» 5 DZEE) | Syx=81.035 2 40.518

17463.18 3
(6) Fo F

F0=428.998 F (1, 2; 0.01)=98.50
Fo=428.998 F(1, 2; 0.05)=18.51 5%, 1%
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)
@ b
b=S(xy)/S(xx)=32.7885/0.06185=530.129 )
Y= +b(x
®
@ Syx
Sy x=S(yy)-bS(xy)=17463.18 17382.145=81.035
() Vy X
Vy x=Sy x/(n-2)=81.036/2=40.518

v =V =6.364

2 P,E T, f 0-4

o il

)=662.6+530.12g(x 1.18)=530.12gx+37.048

, 672.8Kg,

665kg ) 2.5%

|
-0-
~a~

max
SR

1o -t
<
M

) 656kg

X=1.21 , Y=641.46+37.05=678.51

-
=1
-

678.51 656

R NS

678.51 x 100=3.32%

b _\\_ 4

3 32% ) %

) 5

Y,=(1-0.0332) (Y)

3.3

(Y*) 650kg

650=(1 0.0332)(530.13X+37.05) w
X=1.20
@ 1

1250 D

1250 D
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68 /in ,
— x =0.85
100 1000
=1.20-0.85=0.35

(0.35/1.25)x 100=28 /in

1000 D
1000 D
76 /in
=0.76
=1.20-0.76=0.44
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